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Compound Interest — Unit Review

1. Use the simple interest triangle to write the formula for each of the variables
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2. Write the following interest rates as they would appear in the simple interest formula as I.

a) 9.5% b) 4.25% c) 0.75%
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3. Write the following lengths of time as they would appear in the simple interest formula as t.
a) __32 months b) E weeks <) Bg days
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4. How much interest is earned on $500 invested for 42 months at 5.5% per year simple interest?
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5. How much money must be invested at 6% per year, simple interest to earn $500 in interest in

two years? T o,
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6. What simple interest rate is needed to grow $150 to $200 in 24 months?

' P - 190 RA
p Q FP((L'—L 2t 0

L = .IQQ’ morths —.'-/’Lr.QjCaA oot

7. Write the following interest rates as they would appear in the compound interest formula as i.

a) 2% bi-weekly b) 5.5% monthly c) 12% quarterly
0.02 +2% 0075 =1 O. (2.4
8. Write the number of compounding periods as it would appear in the compound interest formula n.
a) Compounded weekly b) Compounded semi- ¢) Compounded semi-
for 3 years monthly for 2 years annually for 20 months
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9. Calculate the amount of a $30 000 investment at 6.75% per year, compounded quarterly for 4

years How much interest was earned? T =A-P
qua.«-{-g | n
p,. , e Pr=TPUI+i) = 3921050 - %0000
P. 30000 =30200(1+ 0.0635 % L() - %2l05=
: T=uU - .
,: ¥ OL;szF - H20. %0 - $92(050 inteet L’WqJ

10. Most department store credit cards charge 24% per year interest compounded monthly on unpaid
balances. How much interest would a $1400 credit card debt accrue (be charged) if the balance

was not paid for 3 months? _
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11. How much money would Lily have to invest 'roday to have $500 in three years, at 11% per year,
compounded monthly?
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